BALCON 2

= = 5.70 M2 =
soB ESSIN
CHAVBRE 2 13.50 M2 14.25 M
> 1311 M2
- - )
[ . L. (1
4.81 M2
0 O DEGAG
5 i g - 13.60 M2 l
ié}] 481 M CHAMBRE
% =198 PRINCIPALE
I I ] 1 39.90 M2 |
\ El 2N \J ;
% e CHAMBRE 3 i
e 15.47 M2
i 5 a1
BALCON P
_ 11.40 M2
1]
ETAGE ETAGE
CHAMBRE 2 13.11 M2 3.45m x 3.80m
SE 4.81 M? 1.93m x 2.50m
BALCON 2 5.70 M2 3.80m x 1.50m
CHAMBRE 3 15.47 M? 3.40m x 4.55m
SE 4.81 M? 1.93m x 2.50m
BALCON 3 5.10 M? 3.40m x 1.50m
DEGAG 13.60 M? 3.40m x 4.00m
CHAMBRE P | 39.90 M? 7.00m x 5.70m
DRESSING 14.25 M? 2.85m x 5.00m
SDB 13.50 M? 2.70m x 5.00m
BALCON P 11.40 M? 5.70m x 2.00m
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